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Sometimes a robust estimate is required for the difference in location (with corresponding confidence limits)

for two samples, not necessarily of the same size, but without assuming normality or any other distribution.

From the main SimFIT menu choose [Statistics], navigate to [Data exploration] and open the option for [Robust

analysis of two samples]. The two default test files are ttest.tf4 and ttest.tf5 with these values
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while analysis produces the following results.

Robust analysis of two samples

--sample size 12

. -sample size 7

Difference in location -18.501

Lower confidence limit -40.009

Upper confidence limit 2.997

Percentage confidence limit 95.30%

Lower Mann-whitney U-value 19.000

Upper Mann-Whitney U-value 66.000

The procedure is based on the assumption that - of size =G is distributed as � (G) and. of size =H as � (G− \),

so an estimate \̂ for the difference in location is calculated as

\̂ = median(H 9 − G8 , 8 = 1, 2, . . . , =G , 9 = 1, 2, . . . , =H) .

100U% confidence limits *! and *� are then estimated by inverting the Mann-Whitney U statistic so that

%(* ≤ *!) ≤ U/2

%(* ≤ *! + 1) > U/2

%(* ≥ *� ) ≤ U/2

%(* ≥ *� − 1) > U/2.
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